Zad. Kozwfqlo(

mefodq premieaed (J(m7

chw
x . I
o .
2 g/
WALIITIILIITII® !
J 4T ] 7?-&
r 9
= =
¥ é ;@ C{l{ * [U')]

/° Obreiloue 5‘{OI)VN'C( 360"'\640-{((‘497' wfeoﬂhoau(m‘)c{ullfoﬁq

=2 (¢, f

- &(14 o{,w"u CJ{ATO\ A

)

- k(q" ()Llo"u QJTATO-{

A° SHeonene U Tady

pody’owooego M efody /qmem'fmm’ Jpmp

i o Guene Prz7u¢<7ub7v‘4 rom erfde Oy | S0oLh [ad ofic. LQGJhHVMeyo)

1 i

N

@

® 4 3

2 /i

l

/
(— ZO(rLOLOLJOW/ ot cugeTo /T

[TTTITLTLL,

q

@

7 z ©

: \z_u“o&oww./ ot wt encTo o
o



{ Dodolnic momeat; dlon MPS

).FE(.QVHM+ A -4 ? @
J,GW ) ( ‘‘‘‘‘‘‘‘‘‘ D |
(4 , 2 |
] 9 @ 1 ¢ e do Sl &)Cmylnn7J1° 2
: [

o 0L _ 64 %6 _ 9

Mgy = 86 -~ & ° 6 ~ Lt T4af
o PL_ E-6 3

M’\H < 6 . t)) B C) -G/;

* Elow 141 %—,{

e
GigiLLLLLLLLzﬁj
: 6 m "
0 (*
Mn)\— B E'/ZD_’: -6

¥ Poroslole e(w«,M? - fwk OQ’C\.C\:-QW-Q\ w:lgdvquue?u, A c,ayéc vie

Pows4um(? {01 o (’/147 Py s Tocwe .

2° Wﬂﬂ(wew& pan\)qATuwTJa WO Ca15e) o) /'ed»ms*/rour/a thuRP?/

(5 RN
o
™~
~

6%




4°  Sumo 76e m O er
My, = —45 &1, Mec ™ [e/{;
Map <45 2614, Wy = “%2»/@
he =~ H{, + Teld
My = Zel], < &)
My = 6 « B,
Mg = — 6 ¢ 'ZSH{’,\



5° L\)TQHQQQH;C cartose ana
DT;ponu,'mY L rgomarae Kooy
A 20— Wlmobogy momedsu o Oyl 4

) EMp=0 - Kno Lauja morcdts o e 4 -

4
géﬂ/\q: q,f* ,,2[:31’1 11, ¢ J\E”)L =0
1 2 k3
Z~  TE tEL «6F TEG “Ef <« TEA O

(,(LTQJ A velmoy 2 degome w.cw’a-{ovvf.\'
a3 «’3’[—‘[(142 ()‘51-'/{; <0
O, + 3 tlfs *6=0 [—C

i 4.5 <3614, + O £l 40
+ 1-96 -3£/{, =3l {=0
N5 = BALEL=O =2 4 =-/I!Q __/fl

4
454361+ 0,5 —4 o - 44:_:—_,_1_,——;-&’/

60 Wsr,(hq'CAch{.e C\/Or"o_\’(/; “’7()”7{-’7466\) 5(11"’)0?7((“71(}\

W= =45 + AN [l £l= -5 03 [way,]

My = 45« 4438 = 489 -
My~ 43333 <054l = A
May = 0543333 ~4,0 = =467
gy = b= T4 = 5338
Moo= <6 ~ T4 = -3
M.lc = =/ - -1
¢
Moy = T 69) = g66¥

ot o -




7° Ld-lmczckew‘e, (A)jkreSu sl CJ€CJ")71"?»77J’1

* !\/(}VIOS(WW no r73un€(< (',J\( QAohe  mow f"#Z

5,09 A%9
{ 6 { 410_’
G ‘L ?
q,‘—J\/m k\;,\é‘f’
QJ,LLLLLLLLiLLL) (oe ~
N ? 1 & =7
=0z

N O(—(/:aom\, Poeoﬂﬂ( 5.77 e ’poSz(«036(47</4 ¢lom eq10ch

'3 ,4_ 1
B I 28
\(J g ‘ ZM,=0
?3‘“5 4335 ‘;t’ﬂ* Qq.é —£+3 “4g9<0
P(qf’ ’Slégs—
Zh,<0
-5E3 4634489 - Rg 60
L= 4335
A=A o,w?

Sh~O ~/I,C§‘I+<I-21~»/I,64ro 10,877

AP



o Element B-A

1 ¢ =9
(L Ll L] L)L LLLLJ,Q?BB
~/ 1
L T v A Toa  Bgeb ~13m< 33~ M40
Ry = bbbt
é Mb:O
-6~ 338 AR5+ 333 <0
2= +5!573
o Llemeiat A-C ,
033
e 03
|
v Elemeqt A-D ’[
06t Je g |
>P o Jonss e £95 1y 50 |
L= *O9Y
.}k— U()V)OS;W)\( C\)\{(_V)QCCO‘OQ, SJT nu V~( 5(4"76{ h s‘fd Vng’lUV’7 L/\l I.fFS]
M.T, N

Maledy Pom(ﬂac de sily pre Loy sig mfgdq clewerfom 2 WC‘WV i‘
ZHdl‘U(nl- v ‘

o



lé A 08175

“Taees .
L, Latt.
W OITTITITITLL L}%} (" ’
Q
Te et ot ¥t by - Jond
Fom

E lsdremq be W)ohe«;i/

i: Ni)=583 3,665
M) = SA6S

- x
(* Mix)z =333 6 obd-x-a 22
*

M) = 661 — =0

x=335
M[3333)= 333 <6 L) 7m - (338

- gﬂf‘f} - mux Y

PR @ " UU

m Y

Q@

o



® >

133§
06145 !
©
054
G
T3

1 5



